EDUCATION

Signature of Invigilators PAPER - 11 Roll No D D D D D

o DO (In figures as in Admit Card)

° JY—06/13 RollNo. ......c.......... e
(mwords) .............

Name of the Areas/Section (if any)................

Time Allowed :75 Minutes] [Maximum Marks : 100

Instructions for the Candidates
1. Write your Roll Number in the space provided on the top of this page.
This paper consists of fifty (50) multipie choice type questions. All questions are campuisory.

Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should be a
capital letter for the selected option. The answer letter shouid entirely be contained within the
corresponding square.

Correct method A Wrong method ] OR m

4. Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under Paper [|
only. .

Read instructions given inside carefully.
6. Extra sheet is attached at the end of the booklet for rough work.

You should return the test bookiet to the invigilator at the end of paper and should not carry any pape
with you outside the examination hall.

MELaw (AL W2 AL ¢
q, L el St nlaell arog Ml dAuRL L AsR Gl

T R NAMARL A WAL (Wo)  oigAs(ERs BoRL Rt vl e 8. oaL o nal 12 faa 8,

3. RS WAL AL Y, AR g s (s Gl S, & (A), (B), (C) and (D). < suladunt 2= 9.
nadl BeiR TUlie U oY Ul ¢A. Griredl AL WNA VAL SRR U8 o d 2l
@viaisdl R¢R.

wilfla: | A il A ¢ ] ) [K]

¥, UL UBMAL oo A ICR Answer Sheet «L Paper 1 {Qsuaiell IR 20 e v 2l
.
W RER VUM JRAAL SW) s QAL

T B oral W v UG W g S WL B,
9. MRLEL AN YRL uY At ugl L eysae ¥ & [FAlas AL S5l s udlaw visd sk @8
ol gl '



Edu P-II



EDUCATION
Paper - 11
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NOTE: This paper contains FIFTY (50) multiple-choice / Assertion & Reasoning/
Matching questions, each questions carrying two (02) marks. Attempt

R

ALL the questions.
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Which of the following is not a

purpose of educational

philosophy ?

(A) to professionalize the job of
teaching

(B) to clarify values and aims in
teaching

(C). to critically examine assum-
ptions behind educational
practices

(D) to enlighten teachers as to the
origin of educational
difference ?

'To educate' according to nature

means

(A) to return to the natural as
opposed to the artificial in life

(B) to educate according to the
natural laws of human devel-
opment

(C) to study natural laws and
apply them to the educational
process

(D) all of the above
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As to the question of values

(A) the realist and the idealist
both obtain their values from
man's experiences.

(B) the pragmatist and the idealist
derive their values from
sources outside of man

(C) the pragmatist and the realist
reject supernaturalism as a
satisfactory source of values

(D) the idealist and the realist
both obtain their values from
intuition and reason

" Those = whose educational
philosophy is rooted in pragmatism

(A) reject scientific method of

experimentation
(B) maintain that complete

objectivity is possible

(C) consider that the IQ is innate
and constant.

(D) claim that knowledge is
tentative, truth is relative

What did the ancient Indian system

of Education have its base in ?

(A) Dharma (righteousness)

(B) Moksa (emancipation)

(C) Artha (prosperity / riches)

(D) Purusarthas (four principle
objects of human life)

Which of the following deals with
the ultimate reality, the Brahma ?
(A) Sankhya ’

(B) Nyaya

(C) Mimamsa

(D) Vedanta
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7.

10.

The realists would stress as their

aim in education is

(A) adjustment to nature

(B) realization of the self

(C) development of the intellectual
virtues

(D) preparation for one's vocational
pursuit

Which of the following definition of

education is given by Swami

Vivekanand ?

(A) Education which enlightens
the darkness of life

(B) Education is a process of
drawing out hidden potential
of child

(C) Education is manifastion of all
round development of
individual

(D) Education is self-realization

What is the nature of knowledge
according to SANKHYA-
PHILOSOPHY ?

(A) Sankhya and Yoga

(B) Prabha and Aprabha

(C) Life and Lifeless

(D) Purush and Nature

What should be the nature of

education according to Marxists

ideology ?

(A) Innovative Idea Centred

(B) Individual Centered

(C) Culture Centred '

(D) Production and Labour
Centred
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11.

12.

13.

14.

15.

Which path a teacher should follow
according to Buddha's Educational
Philosophy ?

(A) Ashtangmarg

(B) Triangmarg

(C) Panchmahavratas

(D) Truths of Vedas

In any definition of educational
sociology the key word is

A)
®
(9)
D)

individual
society
culture
interaction

Most educationists agree that the
most influential mnon-school
educative agency is the

(A) church

(B) press

(C) home

(D) movies

The father of educational sociology
is generally recognized to be

(A) Comte

(B) Adam Smith

(C) Bellamy

(D) E. George Payne

The most common basis for
differentiation of social classes is in
terms of

A)
®
©
D)

interests

power

status and prestige
occupation
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16.

17.

Inspite of the collection of much

data on the structure and dynamics

of society, sociclogists have had

little effect upon curriculum

planning, because -

(A) The field of sociology is
comparatively young

(B) a few teachers have been
trained in sociology

(C) the data collected have had
little value

(D) the expertise of a few teachers
cannot contribute to the
development of the curriculum

Of the nature of culture, one can
say that

(A) human nature i1s a
characteristic of the species
rather than something learned
culture demands a surrender
of some liberties and the
acceptance of some obligations

B)

©)

culture means the same thing
as civilization
D)

culture arises from man's
many wars

18. Social mobility is largely
attributable to '
(A) Availability of job
opportunities
(B) Desire of the individuals to
move from one stratum to
another
(C) The parental pressure
(D) Politics in the society
Edu P-II
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19. Which of the following statement is
correct ?

A

®B)

©)

)

Society can exist only by
transfer of culture from one
generation to another
generation

The only society which has
healthy people can exist
Only economically sound
society can exist

It is best if culture remains

restricted to a particular
generation

20. Which of the following statements
is false ?

A)

(B)

©

D)

Certain traditional values
appear to be false due to
modern outlook

Indian social system has been
largely affected due to
destabilization of caste system
New values have been
established due to scientific
and industrial development

Scientific outlook has been
opposing traditional mercy

21. Which of the following is the
destructive effect of industria-
lization ?

(A)
B)
©
D)
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Establishment of trade unions
Increase in production
Increase in leisure time

Increase in dirty and densly
populated areas in cities
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22,

23.

24.

25.

Generally children belonging to
which class are not showing
interest in education ?

(A) Upper class

(B) Upper middle class

(C) Lower middle class

(D) Lower class

Which of the following factors
opposes the process of
socialization ?

(A) Religious Education

(B) Co-education

(C) Untouchability, Castism

(D) Democratic setup in school

Which scholar used the word
'sociology' for the first time in the
world ?

(A) Herbert Spencer
(B) August Komyatte
(C) Lester Ward

(D) William Ward

The primary task of the teacher is

(A) to teach the prescribed
curriculum

(B) to stimulate and guide
student learning

(C) to ensure that all students
belong to socially acceptable
peer groups

(D) to promote habits of

conformity to adult demands -

and expectations
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27.

28.

29.

©)

. Which of the following aspects of

the individual's development is
most clearly defined by heredity ?
(A) the limits

(B) the direction

(C) the level

(D) the rate

The best evidence that emotions are

learnable is that

(A) most emotions are not present
at birth and therefore, have
been learned

(B) emotional responses can be

associated with previously

neutral stimuli

they increase in intensity and

frequency with age

(D) they vary in frequency and

intensity with the degree of

intelligence of the individual

The "mental development" of the
child most closely parallels an
increase in '

&)
B)

his ability to memorize

his ability to get along with
others

his ability to profit from
experience

his stock of knowledge

©)
D)

"A relatively permanent change in
knowledge or behaviour through
experience" best defines

(A) learning

B)
©)
D)

maturation
conditioning
reinforcement
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30.

31

32.

33.

Thorndike's greatest contribution to
the psychology of learning is the
law of

(A) readiness

(B) effect

(C) exercise

(D) selective perception

"The applicants who have obtained
less than 55% marks in the
Master's Degree exam will not be
eligible for GSLET." This statement
1s an example of the concept of _____
(A) positive reinforcement

(B) negative reinforcement

(C) positive punishment

(D) negative punishment

What is the aim of development
according to the psychological point
of view ?

(A) learning

(B) personality

(C) growth

D) adjustmént

What is the most common source of
sexual knowledge for adolescent
student

(A) Friends of the same age
(B) Books

(C) Older brothers/sisters
(D) teachers
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34.

35.

36.

According to psychologists which is

the least acceptable definition of

personality from the following ?

(A) The sum total of
characteristics and qualities of
an individual

(B) Individual's moral character

(C) Individual's impression on
others

(D) Typical behaviour according to
the self-concept

Who was the first psychologist who
established psychological
laboratory ?

(A) Wilhelm Wundt
(B) Ernest Newman
(C) Pavlov

(D) Thorndike

What is the contribution of

educational psychology to

education ?

(A) to determine the aims of
education

{B) to determine the content of
curriculum

(C) to suggest ways for effective
teaching

(D) Guidance in educational
administration

. Which of the following is not

included in the scope of educational
psychology ?

(A) individual differences

(B) personality development

(C) adjustment

(D) economic matters of education
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38.

39.

40.

41.

Which of the following is not an
operational definition ?
(A) Ratings of art drawings by

three professors of art
education
(B) Measuring intelligence

through Desai group test
Divergent thinking is a group
of problem-solving skills
Classification of students in a
graduate research course by
whether or not they have had
a statistical course

(&)

(D)

Which of the following designs has
the weakest internal validity ?

(A) single group post test only

(B) single group pretest post test
(C) A-B-A-B single-subject-design
(D) time-series design
random

Stratified sampling

(A) Uses existing physical
conditions in order to from
groups

takes random samples from
each subgroup

is less efficient than simple
random sampling

needs more subjects than
simple random sampling

B)
(©)

)

Measurement tools are likely to
invalidate the research findings if
they are

(A) too easy or difficult for the
majority of the research
sample

administered only to a
volunteer group of subjects
developed by the researcher
known toc have high reliability

(B)

©
D)
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42

43.

44.

45.

46.

A  major disadvantage of

observation technique of research is

that

(A) observations are easily biased
by the subject

(B) no standardized tool for
observation is available

(C) the presence of the observer
changes the situation

(D) only the most simple
behaviours can be observed

Hypothesis means a statement
the thesis

(A) above

(B) below

(C) same as

(D) not related to

Radom sampling is suitable in case
of population

(A) homogenous

(B) heterogenous

(C) any

(D) mixed

The technique applied in selecting
a___ __ _ sample is based on
probability

(A) convenient

(B) quota

(C) purposive

(D) systematic

For the status study of the science
laboratories in the secondary
schools appropriate tool is

(A) interview schedule

(B) observation schedule

(C) check list

(D) questionnaire
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47.

4 ®

50.

49.

Listing the names of the pupils in
the sample meritwise is called
scale

(A) nominal
(B) ordinal
(C) interval
(D) ratio

. Phi-coefficient of correlation is

applicable in case of

(A) both variables being truely
dichotomous

(B) both variables being truely
continuous

(C) One variable
dichotomous and
artificially dichotomous

(D) both variables being artificially
dichotomous

truely
other

which one is necessarily included in
laboratory experiment ?

(A) Study of the effect and finding
its cause

(B) introducing the cause and
study its effect

(C) comparison of two situations
(D) Change in the variables

The 0.01 level of significance is
than the 0.05 level

(A) more acceptable
(B) of less value

(C) less acceptable
(D) more exacting
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